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QUESTION 1

Given:

final class Folder { //line n1 //line n2 public void open () {
System.out.print(“*Open”);

} } public class Test {

public static void main (String [] args) throws Exception { try (Folder f = new Folder()) { f.open(); } } }
Which two modifications enable the code to print Open Close? (Choose two.)
A. Replace line n1 with: class Folder implements AutoCloseable {

B. Replace line nl with: class Folder extends Closeable {

C. Replace line n1 with: class Folder extends Exception {

D. At line n2, insert: final void close () { System.out.print("Close"); }

E. Atline n2, insert:

public void close () throws IOException {

System.out.print("Close");

}

Correct Answer: AE

QUESTION 2

Given:
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publie eclass Job |
String name;
Integer cost;
Job (String nams, Integer cost) {
this.name = name;
this.cost = cost;

}

String getName {) { return name; }

int getCost() { return cost; }

public static void main(Stringl[] args) {
Job jl = new Job("IT", null):
DoubleSupplier jS1 = jl::getCost;
System.out.println(jl.getName() + ":" + jSl.getAsDouble());

}
What is the result?
A. IT:null
B. A NullPointerException is thrown at run time.
C. A compilation error occurs.
D. IT:0.0

Correct Answer: D

QUESTION 3

Given the code fragment:
UnaryOperator uol = s -> s*2; //line n1
List loanValues = Arrays.asList(1000.0, 2000.0);
loanValues.stream()

filter(lv -> Iv >= 1500)

.map(lv -> uol.apply(lv)) /lline n2
forEach(s -> System.out.print(s + " "));
What is the result?

A. 4000.0

B. 4000

C. A compilation error occurs at line nl.
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D. A compilation error occurs at line n2.

Correct Answer: D

QUESTION 4
Given that these files exist and are accessible:

/sports/info.txt

/sports/cricket/players.txt

/sports/cricket/data/ODI.txt

and given the code fragment:

int maxDepth =2;

Stream paths = Files.find(Paths.get("/sports"),

maxDepth,

(p, @) -> p.getFileName().toString().endsWith ("txt"),
FileVisitOption.FOLLOW_LINKS);

Long fCount = paths.count();

System.out.printin(fCount);

Assuming that there are NO soft-link/symbolic links to any of the files in the directory structure, what is the
result?

Al

B.2

C.3

D. An Exception is thrown at runtime.

Correct Answer: D

QUESTION 5

Given:
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class Product {
String pname;
public Product (String pname) {
this.pname = pname;
}

and the code fragment:

Product pl = new Product ("PowerCharger"):;
Product p2 = pl:;
System.ocut.prinzln{pl.equals(p2))r
Product p3 = new Product ("PowerCharger"):;
System.out.println{pl.equals(p3)):

What is the result?
A. true true

B. false true

C. false false

D. true false

Correct Answer: D
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